
Noon sight 
Ocean Navigator 

For want of a chronometer https://oceannavigator.com/article/for-want-of-a-
chronometer/ 

 

May 26 and there is enough clear sky to take a noon sight. 

DR is S 35° 20’ by E 21° 10’. 

Noon sight of the lower limb from a height of 20 feet. 

Use a declination of the sun of N 21° 12’. 

Hs of the sight is 33° 22.7’. 

Use the 2021 Nautical Almanac for this sight. 

 

A. What is Ho? 

B. Establish the latitude. 

 

 

  

https://oceannavigator.com/article/for-want-of-a-chronometer/
https://oceannavigator.com/article/for-want-of-a-chronometer/


Navigational Algorithms – Android Apps 
https://sites.google.com/site/navigationalalgorithms/software/android 

  
 

 

 

  

https://sites.google.com/site/navigationalalgorithms/software/android


Navigational Algorithms – Windows (.NET) 
https://sites.google.com/site/navigationalalgorithms/software/Windows 

 

Differences between 1814 and 2021 

 

 

https://sites.google.com/site/navigationalalgorithms/software/Windows


 

 

 

 

  



  

 

26/05/2021 
10:32:24 
Assumed Position 
35º 20.0' S 
021º 10.0' E 
Sun 
Hs = 33º 22.70'  
Limb = lower 
Ref = Sea Horizon 
heye = 6.096 m 
IC = 0 ' 
P = 1010 hPa 
T = 10 ºC 
Ho =  33º 32.8' 
UpperTransit (N) 
 

Geocentric equatorial 
coordinates 
GHA = 338º 50.0' 
Dec = 21º 12.1' N 
 
Latitude by meridian 
transit 
B = 35º 15.1' S 

 

Introducing an error in the time of meridian transit of the Sun 
10:00:00 
Geocentric equatorial 
coordinates 
GHA = 330º 44.1' 
Dec = 21º 11.9' N 
Latitude by meridian 
transit 
B = 35º 15.4' S 
 

10:30:00 
Geocentric equatorial 
coordinates 
GHA = 338º 14.0' 
Dec = 21º 12.1' N 
Latitude by meridian 
transit 
B = 35º 15.1' S 
 

10:25:00 
Geocentric equatorial 
coordinates 
GHA = 336º 59.0' 
Dec = 21º 12.0' N 
Latitude by meridian 
transit 
B = 35º 15.2' S 

 



Latitud al paso por el meridiano del lugar

B = Dec+(90-H)

Latitud
PMS

Sol: Mediodía - LAN 

Fecha UT1transit 

Astro

Almanaque Náutico
Dec

Z = 180º Z = 0º

B = Dec-(90-H)

No

Observación 

Hs

Tránsito

Culminación Z

Altura Observada
Ho

Meridiano Superior

del Lugar

B = H + (90-Dec)

Latitud
PMI 

No

LHA = 180ºLHA = 0º

Meridiano Inferior

del Lugar



Date UT1

Nautical 

Almanac
HP, SD

Dip of horizon

Dip = 0.0293 * SQRT( hojo)

Sight

Body Hs (Z)

Atmosphere
T, P

DR
B, L

Refraction

Ro = 0.0167 / (tan (H+7.31) / (H+4.4) )

f = 0.28 * P / (T + 273)

P [mb], T [ºC]

R = f * Ro

Apparent altitude
H = Hs + IC - Dip

Parallax
PA = HP * cos H + OB

Observed altitude
Ho = H - R + PA ± SD

Oblateness of the Earth

OB = 0.0032*(SIN 2Be * COS Z * SIN H -SIN
2

Be * COS H )

Semidiameter
SD

Azimuth
Z

Sextant
IC

Observer

heye

Corrections for Sextant Altitude

https://sites.google.com/site/navigationalalgorithms/




